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Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
O 2TRR e i
(a} What is statistic?
siferfer 52

(b) What is the first moment about the
mean?

AT 2o gof 5 7

{c) Define probability.
Selfeer AgwT fan |
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(2)

{dj When are the two events said to be
mutually exclusive?

cofar 61 oo SRS Ifere o (i = 2

(e} What is random variable?
Toes veie 2

(1 Is binomial distribution a distribution of
continuous random variable?

faem 3% Sffozs Ao Horea I+ T ?

(g9 What is the shape of the normal curve?
FOIRT RN PO (FCIgal ?

(h) What is sample?
sifewf & 2

(i) What is correlation?
2T 6 2

(i) Mention one property of random
sample.

i aifordq b1 4 Sear 41 |

Answer the following questions :
SO oA Teq i

(a) Distinguish between population and
sample.

TR W Afowi e SN 7

2x%5=10

( Continued )

(b)

)

(d)

(e)

(3)

State the addition theorem  of
probability.
FeifdeR @ Tgco! SEe 4 |

Mention two properties of the uniform
distribution.

IR 751 4 Tae 1 |

What is covariance?

H2ePRd 2

What is stratified random sampling?

TP i aAfore 6 2

3. Answer any four of the following questions :

S5x4=20

e PRSI SRR e i

(@)

(b)

24A/85

Prove the multiplication theorem of
probability.

TSRO 7[99 SELOT 2T <47 |

A random variable X assumes only three
values -1, 0, 1 with equal probabilities.
Find E (X).

<51 AT eI X @ W@ fofe I -1, 0, 1
@, ReFe[ FeRel 79 | E (X) Sfere |
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(¢) Explain the concept of distribution
functions for jointly distributed random
variables.

Qg IAbe  AMHRF TEFT IDT T
YIRENCH! 75T 3541 |

(d) Mean of a binomial distribution is 4 and
its standard deviation is ¥/3. Obtain the
values of n, p and q.

e I59 @O WG 4 WE TwE [ 3.
n, p 9% g 3 WI¥ Sferear|

(e)  Explain Bayes’ rule.

([T g 04y T4 |

() Explain the multistage random
sampling.

IR AOEE 2ARSHI T 4 |

Answer any four of the following questions :
10x4=40

o PR R e wiiRhE s fa

fa) Derive the mean and variance of
binomial distribution. 5+5=10
faeiw 959 W4 SF PR Sferea |
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(5]

(b) Define probability mass function (pmf).
Derive Poisson distribution as a limiting
case of binomial distribution.

WS ©9 o (pmid K@ o | faem
A% TS TG BowCet 45 75+ Sfere |

(¢) Discuss the properties of normal
distribution.

TP IBT GO SCAG! 41 |

(dj Find Karl Pearson’s correlation
coefficient from the following data and

interpret the result : 8+2=10

Colq O o[l Flef FIEREA TETRY 8915
Tferean w = FaTe T 799

IS T GRS g RO )
805 60N 40 30 oG

(e/ An unbiased die is thrown. Find the
probability that the number obtained is
either an even number or a multiple of
three or both.

S i B e G B = e e
FRAMCH! €61 JT 7AW I 37 B 1 GCABR
R gl T |
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(6)

{f/, 'What are the principal steps in a sample
survey? Discuss.

e ANHE 2qm R & 52 e
91 |

{g) Mention the differennce between mean
deviation and standard deviation.
Mention two properties of standard
deviation. Calculate mean and standard
deviation from the following data :

2+2+6=10

‘e oo e W Koo e A1 Soa
91 | Ao et g1 o Sead 91 | were
TUE AT e o o AEe Rem e
4l :

Age (F) Persons (J1&)
0-10 15
10-20 15
20-30 23
3040 2
40-50 25
50-60 10
60-70 5
7080 10

{ Continued )

(h)

()
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(7))

Define the following with the help of one
example each :
A BT THRATR e FRIRE
o -
(i) Sample space
oifwef IR
(i) Conditional probability
TSI TSI
(iii) Independent events

o Tl

A bag contains 5 white and 4 black
balls. Two balls are drawn at random
one after the other without replacement.
Find the probability that both balls
drawn are black. 6+4=10

<5t @5/ 5 B I WF 4 B T @ R
Wﬁ%ﬁfﬂmﬁﬂsﬂ%ﬁﬁmmzﬁ
701 TR 2 | Y {9 FA RER ]
fiefg =)

* Kk Kk
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